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QUESTION 1

Given: 

6.

 int time = 12; 

7.

 if ( time 

8.

 System.out.println("Good morning"); 

9.

 } 

10.

 // insert code here 

11.

 System.out.println("Good afternoon"); 

12.

 } 

13.

 else if ( time >= 18 ) { 

14.

 System.out.println("Good evening"); 

15.

 } 

Which three, inserted independently at line 10, produce the output Good afternoon? (Choose three.) 

A. else if ( time > 12 || time 12 andand time >= 18 ) { 

C. if ( time >= 12 andand time 

D. else if ( time >= 12 || time 

E. else if ( time  18) { 

Correct Answer: ACD 
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QUESTION 2

Given: 

1.

 class Test { 

2.

 public static void main(String args[]) { 

3.

 String str = "Hello!"; 

4.

 String str2 = "Bye!"; 

5.

 str += str2; 

6.

 str -= str2; 

7. 

8.

 if ( str == str2 ) { 

9.

 System.out.println("str = str2"); 

10.

 } else { 

11.

 System.out.println("str != str2"); 

12.

 } 

13.

 } 

14.
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 } 

What is the result? 

A. str != str2 

B. str = str2 

C. The code runs with no output. 

D. Compilation fails. 

Correct Answer: D 

 

QUESTION 3

Which two are true? (Choose two.) 

A. SQL commands cannot be contained in servlets. 

B. SQL technology is used to access JMS queues from within EJB technology. 

C. SQL allows you to modify multiple rows in a table with a single command. 

D. SQL is a web services technology used to parse large XML files. 

E. SQL commands can be written in applications that use NO Java technologies. 

Correct Answer: CE 

 

QUESTION 4

Which two technologies are used for processing HTTP requests and mapping those requests to business objects?
(Choose two.) 

A. web services 

B. JMS 

C. EJB 

D. servlets 

Correct Answer: AD 

 

QUESTION 5

Given: 

1.
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 public enum Color { RED, YELLOW, GREEN } 

2.

 enum Fruit { 

3.

 Banana(Color.RED), 

4.

 Apple(Color.YELLOW), 

5.

 Kiwi(Color.GREEN); 

6.

 private Color color; 

7.

 Fruit(Color color) { 

8.

 this.color = color; 

9.

 } 

10.

 } 

11.

 class Test { 

12.

 public void method() { 

13.

 // insert code here 

14.

 } 

15.

 } 
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Which two, inserted independently at line 13, allow the code to compile? (Choose two.) 

A. Color red = Color.values[0]; 

B. Fruit f = Banana; 

C. Fruit[] fruits = Fruit.values(); 

D. Fruit f = new Fruit(Color.RED); 

E. Fruit f = Fruit.Banana; switch (f) { } 

Correct Answer: CE 
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